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State 1 :

P, = 3 MPa
->

Table A-6
-> S

,
=

6.
9235 [k5/kg · K]

T

= = 400
°

C Supermented vapor h
=

= 3231 .
7 [kJ/ky]

State 2 :

Pz = 50kPa
->

Table A-5
-> ==4235

S2 = Si 2-phase mixture

-
= 0 . 897

"ideal" = isentropic

hz = h +
+ xhy

= 340 . 54[k5/kg] + 0. 897 x 2304. 7[k5/kg)

= 2407. 9 [KJ/kg]

steady adiabat negligible

First law : Af = -w + m(h + =( + yz) ,

- m(h + by +()
wa = m(h , - ha)

= 3. 64 [kg/s] x (3231.
7 [15/g] - C407

. 9 [KJ/kg]) = 3 .
00 MW Ideal ,

reversible power

output of turbine



The previous State I was idealized
,

State La (actual) :

Pan = 50 kPa
-> Talk A-6 -> hea = 2682.+ [KJ/kg]

Tzn = 100
·

C

n= It


